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y | M6B 12 5,600 9,900 12 84 72 25 55 2.0
Uy M6B 13 6,100 10,200 13 90 78 25 58 25
F7 M6B 14 6,600 10,400 14 96 84 25 60 60 88 S1 2.8
:j'f M6B 15 7,600 12,900 15 102 90 25 70 3.4
3 K M6B 16 8,600 13,700 16 108 96 25 75 3.9
*3 M6B 17 8,800 13,700 17 114 102 25 78 4.4
l & M6B 18 9,800 14,700 18 120 108 25 80 5.0
7\3 M6B 19 10,000 15,300 19 126 114 25 90 60 88 S1 5.8
7 M6B 20 11,300 17,800 20 132 120 25 100 6.5
g M6B 21 12,400 21,100 21 138 126 28 105 7.5
5 M6B 22 12,800 19,900 22 144 132 28 110 8.1
7 M6B 23 14,200 23,700 23 150 138 28 115 8.9
+ M6B 24 14,500 30,800 24 156 144 28 120 60 S1 9.8
u] M6B 25 15,900 33,200 25 162 150 28 125 88 10.5
v M6 B 26 17,800 37,500 26 168 156 28 130 11.4
g M6B 27 18,500 38,500 27 174 162 28 135 12.1
! M6B 28 19,700 42,300 28 180 168 28 140 12.7
5 M6B 30 22,100 44,700 30 192 180 30 150 60 S1 15.1
& M6B 32 24,200 50,500 32 204 192 30 150 18.0
o M6B 34 26,300 52,100 34 216 204 30 150 19.0
:; M6B 35 29,100 51,100 35 222 210 30 150 19.0
; M6B 36 30,600 51,500 36 228 216 30 150 83 22.0
< M6B 38 33,800 54,200 38 240 228 30 150 60 S1 23.0
pal M6B 40 37,900 56,900 40 252 240 30 150 24.0
7 M6B 42 34,700 57,800 42 264 252 40 150 25.9
M6B 44 38,200 63,300 44 276 264 40 150 28.2
M 6B 45 38,700 67,100 45 282 270 40 180 30.7
M6B 46 49,600 77,900 46 288 276 40 180 60 83 S1 31.6
M6B 48 45,600 - 48 300 288 40 180 345
M6B 50 48,400 - 50 312 300 40 180 37.1
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